2025 EFHO, % - RERE MR

N o Bz - RER LEE B ¥R
1| B E 40,000 50,000 -10,000
2|MBHE 40,000 50,000 -10,000
3| BN E 40,000 50,000 -10,000
L|RERBE 40,000 50,000 -10,000
S| HERR - B EERE 40,000 50,000 -10,000
6|3 x 3MW=E 50,000 50,000 0
| EYEEE 220,000 258,000 -38,000
8| T O&=E 30,000 50,000 -20,000
9 @ﬂ:ﬁﬁ/*\% 80,000 70,000 10,000
10[EFEEZETE 40,000 70,000 -30,000
1|2 —XBREERE 260,000 300,000 -40,000
R2(ZFR—VERFERE 40,000 50,000 -10,000
13[1EEEEMEERE 60,000 60,000 0
14|% v REEEERE R 120,000 50,000 70,000
14{U12AH 73 —&=E 900,000 1,000,000 -100,000
15|UlbA 7T —H=E 90,000 100,000 -10,000
16|U18A T TV —E=E 90,000 100,000 -10,000
& g 2,180,000 2,408,000 -228,000




2025 EFHQ /HERARE MR

N o i % = % FHEE SBA&1EER Sk | ZDRDIIA
1% L.Ei 1027y FAR—ILRE 1,500,000 0 1,500,000 0
2BERUILZMEAR Ty bR— L) —XERS 3,300,000 1,380,000 1,920,000 0
BERULZART v FR—ILAR FEBERRRHEERR—VKRR 1,970,000 932,000 512,000 526,000
ABFBERUIZEZEANRTy bR—LY =T KRR 2,100,000 660,000 1,440,000 0
S5BERULIIIIAANR Ty bR— L) —FXEARS 2,700,000 1,000,000 1,440,000 260,000
6|FARIBERUIGEZ AR T v bR—ILKE 1,290,000 450,000 840,000 0
T|E6EFmERMFUIL AR v FR—ILKRKR 1,660,000 660,000 900,000 0
8|FORIEEULSNRT v P R— LEFEARTER T3 1,050,000 730,000 320,000 0
9F6EIHERUIBNR 7y bh—LY =5 3,170,000 50,000 1,120,000 2,000,000

10(F6EBFIBERUIANR Ty FAR—LY =2 3,170,000 550,000 1,120,000 1,500,000

11\ EHY 7 1,000,000 875,000 75,000 50,000

RERRAFR-VARBERTFER LFOR 100,000 100,000 0 0

B ETBEEESEFERNART v b R— LV BEFIEARBERFH 1,383,360 983,360 160,000 240,000

14|1BERUIBREBERM 7B v 7 U —7S AH2025 63,000 54,000 9,000 0

I5|BFERULIBANRT y b= =7 4,842,000 1,242,000 3,600,000 0

16| @R E AR 390,000 390,000 0 0

17(3x3 U1l 8HAEFEASKBERFE 140,000 68,000 72,000 0

BI\BERBHEANZT Y bR—L Y =7 3,180,000 1,680,000 1,500,000 0

9 FETEEBARTRANRT v P R—LVEFEARBER FE 660,000 430,000 230,000 0

20|#8Ee AAL R A0-40/0-50/" 27 v M R—LBRFIEARFFERFER 510,000 370,000 140,000 0

21|BBEIBEBHEANRT Y bR—LT7 LY R =2y TRRRKE 570,000 330,000 240,000 0

R|BERI-ILFvREZ—X (0-60) K& 160,000 40,000 120,000 0

23|%10[E 3x 3 HARFHEARKBEREFES 140,000 92,000 48,000 0

20| ARRR—Y TR EZ—R2025%FF B F& 320,000 220,000 100,000 0

BIERAR—VARHERFESR BFDE 760,000 440,000 320,000 0

26| REWN - 2EHEARNRT Y PR ILEFERSHER T 840,000 680,000 160,000 0

213N by 7 (BAVWE) 100,000 100,000 0 0

28|3x3 Ul 8HAEFHERALALY TAR 800,000 0 0 800,000

29|3x3 HAEFERHALYTKE 800,000 0 0 800,000

0|EFARP Y 7 200,000 200,000 0 0

& B 38,768,360 14,706,360 17,886,000 6,176,000

i B = # FERE SBA&EE | F7 v MY | Z DDA

313mEBB KU — LAy 72025 2,000,000 500,000 500,000 1,000,000
2\WY —=7)IEAE 2,000,000 0 2,000,000

& B 4,000,000 500,000 2,500,000 1,000,000

e a B 42,768,360 15,206,360 20,386,000 7,176,000




